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Statistics

Lecture 7

Feb 19-8:47 AM

E@/\\g@i one) = 1 - P( Mov\e)*\

A box has 3 red and 5 Hue bedls,

Teke 2 balls with ref\u(/emmjf./

/
R Red RR R3 BR B8
-
® b Blue Sample Space
P( AS ‘ Bu.\\)

=1 — P(o_ved Bolls)
BB

- 5 b
1 — PLBR) - - 2 =

N
P(attesst 1 boe bal)-1 - PNo B\m’ s 2R

Bl 4 -P(RR).{_ 3 .3 4 9 (55
A L e
R

Jan 21-4:31 PM



January 21, 2025

SUWMQ & loaded Cotn is JYOSSQA 3 times,

P(_‘-O\.L\b):.g TY T
F(“Q&A5> =% 2 j
Soat
P(A% teast 1 o)1 PON0 el | o™

-1 _ PRI Wedd) H o H

4 - (@)D =|-458)

PO Veast 4 head)-1 — P(o heads)
-1 P(AN Y16

. [55)

Jan 21-4:39 PM

ivomm Sondard  decK 0§ F\‘Wl"'"] Cﬁvo‘s ,

duw 2 Cmra‘S, No fe:f\n(emuﬁ 4fes,
48 Aces
Plot teast 1 Ace)=1 — P(No  fe)

1o 4984 33
52 51 221

POAY teast 1 Swe Gord) -1 —P(No0 Sace Card)
12 o I I I
4o Toe 52 51 I

Supptse we w3 CoardS , N0 re’)‘wemen’r

P(rt beasdl 4 Red)-1 — P N0 Red)

486 25 24 |15
ARAL el
Qe

Jan 21-4:45 PM



4 Females , 6 Males
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A POPY bank  has 4 dimes £ 6 Nickels.
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